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Roll No. ....................................

MAEC-12 (M.A. Economics)

Second Year, Examination-2015

MAEC-108

Agriculture Economics
(o`Qf"k vFkZ'kkL=k)

Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained in
these sections according to the detailed instructions given
therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k
rFkk x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa
ds vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d
(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to
answer any two (02) questions only. (2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A

1. Discuss the nature of farm mechanisation and changing pattern

of in puts used in Indian agriculture.

Hkkjrh; d`f"k esa d`f"k ;U=khdj.k ds Lo:i rFkk vkxrksa ds mi;ksx ds
cnyrs Lo:i dh ppkZ dhft,A
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2. Describe the land reform measures undertaken in India after

independence and evaluate their impacts.

LorU=krk izkfIr ds ckn Hkkjr esa Hkwfe lq/kj ds fy, viuk, x, mik;ksa
dk o.kZu dhft, rFkk buds izHkkoksa dk ewY;kadu dhft,A

3. Describe the role of agriculture in the Indian economy. Also
elaborate upon the pattern of farm output and productivity.

Hkkjrh; vFkZO;oLFkk esa d`f"k dh Hkwfedk dh ifjppkZ dhft,A lkFk
gh d`f"k mRiknu rFkk mRikndrk dh O;k[;k dhft,A

4. How are agricultural marketing and price policy helpful ia
farm sector development in India.

Hkkjrh; vFkZO;oLFkk esa fdl izdkj d`f"k foi.ku rFkk d`f"k ewY;
uhfr d`f"k{ks=k ds fodkl ds fy, lgk;d gSaA

Section - B @ [k.M&[k
(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj  iz'uksa ds mÙkj nsus gSa A

1. analyse the problems of rural credit in India.

Hkkjr esa xzkeh.k lk[k dh leL;kvksa dh foospuk dhft,A
2. What is the impact of World Trade Organisation on Indian

agriculture ?

fo'o O;kikj laxBu dk Hkkjrh; d`f"k ij D;k izHkko gS\
3. Explain in brief the concept of farm management.

d`f"k izcU/u vc/kj.kk dks la{ksi esa le>kb;sA
4. Describe in brief the nature of Agriculture Economics.

d`f"k vFkZ'kkL=k dh izd`fr dk la{ksi esa mYys[k dhft,A
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5. Discuss over Green Revolution is India.

Hkkjr esa gfjr ozQkfUr dh foospuk dhft,A
6. Write note on NABARD

ukckMZ ij fVIi.kh fyf[k,A
7. Briefly discuss agricultural inputs.

d`f"k vkxrksa dh la{ksi esa foospuk dhft,A
8. Examine Miller's Agriculture Development Theory.

feyj ds d`f"k fodkl fl¼kUr dh O;k[;k dhft,A
Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)
Note : Section 'C' contains ten (10) objective-type questions of

one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A

Fill in the blanks :

fjDr LFkkuksa dks Hkjks %
1. theory of Unlimited Supply of Labor was given by ........... .

Je ds vlhfer iwfrZ fl¼kUr dks izfrikfnr fd;k Fkk ------------ usA
2. The main foodgrain of India is ............... .

Hkkjr dk eq[; [kk|kUu ----------- gSA
3. Aquaculture is related to .................... .

,DokdYpj lEcfU/r gS -------------------- lsA
4. In milk production India ranks ................... .

nqX/ mRiknu esa Hkkjr dk LFkku ------------------- gSA
5. Cantral Rice research institute is located in ............... .

dsUnzh; pkoy vuqla/ku dsUnz ------------------- esa fLFkr gSA
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Choose correct alternatives :

lgh fodYi pquks %
6. Which fertilizer is mostly consumed in India ?

(a) Nitrogen (b) Phosphorus
(c) Potassium (d) All in equal ratio
Hkkjr esa dkSu ls moZjd dk vf/dre mi;ksx gksrk gS\
(v) ukbVªkstu (c) iQkliQksjl
(l) iksVsf'k;e (n) lHkh cjkcj vuqikr esa

7. Who is known as father of white revolution ?
(a) M.S. Swaminathan (b) V. Kurien
(c) K. N. Bahal (d) B. P. Pal
'osr ozQkfUr ds tud dkSu gSa\
(v) ,e ,l LokehukFku (c) oh dqjh;u
(l) ds- ,u- cgy (n) ohih iky

8. The green revolution has mainly been successful for :
(a) Rice (b) Wheat (c) Graw (d) Maize
gfjr ozQkfUr eq[;r;k liQy gqbZ gS&
(v) pkoy (c) xsgw¡ (l) puk (n) eDdk

9. From the following which one is sown in Zayad crop :
(a) Soyabean (b) Water melon
(c) Jute (d) Maize

fuEufyf[kr esa ls dkSu lk tk;n iQly esa cks;k tkrk gS &
(v) lks;kchu (c) rjcwt
(l) twV (n) eDdk

10. Production Possibility curve is :
(a) Canvex to origin (b) Straight line
(c) Cancave to origin (d) Horizontal to X-axis
mRiknu laHkkouk oozQ
(v) ewy ds izfr mUurksnj (c) lh/h js[kk
(l) ewy fcUnq ds izfr urksnj (n) X-v{k ds lekukUrj


